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H (m) Al (m) A2 (m) n A (m%) A (n?) At ()
B - 1 1. 000 8. 775 9.325 1. 000 9.1 9.1
B - 2 1. 000 8. 225 8. 775 1. 000 8.5 8.5
B - 3 1. 000 7.675 8.225 1. 000 8.0 8.0
B - 4 1. 000 7.125 7.675 1. 000 7.4 7.4
B - 5 1. 000 6.575 7.125 1. 000 6.9 6.9
B - 6 1. 000 6. 025 6.575 1. 000 6.3 6.3
B - 7 1. 000 5. 475 6. 025 1. 000 5.8 5.8
B - 8 1. 000 4. 925 5. 475 1. 000 5.2 5.2
B - 9 1. 000 4.375 4. 925 1. 000 4.7 4.7
B - 10 1. 000 3.825 4. 375 1. 000 4.1 4.1
B - 11 0. 750 3.413 3.825 1. 000 2.7 2.7
B - 12 0. 750 3. 000 3.413 1. 000 2.4 2.4
B - 13 - 1 0. 800 3. 000 3. 000 1.118 2.7 2.7

B7 v v 7 (Kl LE) &5t e T H #EE e 73.8




AR WO ORELD ZEEHAE 1 0 = 1. 000

D7\ 7 (Kl L) T H S Te B A=1/2% (A1+A2) *H*n AsELAE 1 0 0.5 = 1.118
. i FEER FHEER AL it P PEBR & T e
H (m) Al (m) A2 (m) n A (m%) A (n?) HE (m?)
D - 1 1. 000 8. 775 9.325 1. 000 9.1 9.1
D - 2 1. 000 8. 225 8. 775 1. 000 8.5 8.5
D - 3 1. 000 7.675 8.225 1. 000 8.0 8.0
D - 4 1. 000 7.125 7.675 1. 000 7.4 7.4

D7 w7 (Kl LE) &t 33.0




AR WP ORE)
E7 vy 7 (i T H H#15#5)

B A=1/2% (A1+A2) *H*n £ 0 1. 000
S EmitE | THELEE Fht PERR & T
IERN R N o
H (m) Al (m) A2 (m) n A (m) AEF (m9)
E - 1 1. 000 7.675 8. 225 1. 000 8.0
E - 2 1. 000 7.125 7.675 1. 000 7.4

E7w v 27 (fi 1. H HES) &5t

15.4




ARET

A B G it B K XA AN FE & dh
2 5% Fyv hvtr—7 283.2/1.8 m 157.3
[ 245 Txt 5 imifE] AZays BZuws (Juws DZuvs EZuav’
TR 27.1 81.1 — 3.2 0.0 m’ 111.4
Al 22. 8 60. 3 — 0.0 0.0 m’ 83. 1
JitE T H Hi 17.4 55.9 — 15. 4 0.0 m’ 88. 7
SRR A T 67.3 197.3 0.0 18.6 0.0 m’ 283. 2

KT vy 7 OMEHEEIZIKELESR




BN Y MW OE SIS
A7 w7 (R )

B A=1/2% (A1+A2) *H

D>, SRS bmERE TR PO iy o LGS Sy PO iy
H (m) Al (m) A2 (m) A () N (o) At ()
A -1 1. 000 - - -
A- 2 1. 000 0.586 0. 586 0.6 0.6
A - 3 1. 000 1. 586 1. 586 1.6 1.6
A - 4 0. 750 2. 586 2. 586 1.9 1.9
A - 5 0. 750 3.336 3.336 2.5 2.5
A - 6 1. 400 7. 360 6. 520 9.7 9.7
A - T -1 1.320 8. 152 7.360 10.2
A - T -2 0. 080 7.800 8. 152 0.6 108
A7 vy 7 (CFiffl) A&t 27. 1




BN Y MW OE SIS

B7 w7 (CFifif)

B A=1/2% (A1+A2) *H

S o EEER  FHEER P TY i P PERRE PIE TN
(m) Al (m) A2 (m) A (%) A (n?) HE (m?)
B - 1 1. 000 - - -
B - 2 1. 000 -
B - 3 1. 000 - - -
B - 4 1. 000 3. 438 3. 438 3.4 3.4
B - 5 1. 000 4. 638 4. 638 4.6 4.6
B - 6 1. 000 5. 838 5. 838 5.8 5.8
B - 7 1. 000 7.038 7.038 7.0 7.0
B - 8 1.000 8.238 8.238 8.2 8.2
B - 9 1. 000 10. 000 10. 000 10.0 10.0
B - 10 1. 000 10. 000 10. 000 10.0 10.0
B - 11 0. 750 10. 000 10. 000 7.5 7.5
B - 12 0. 750 10. 000 10. 000 7.5 7.5
B - 13 - 1 0. 800 9. 600 10. 000 7.8
B - 13 - 2 0. 600 6. 600 9. 600 4.9 1.1
B - 14 1. 320 0. 000 6. 600 4.4 4.4
B7 w7 (Fithl) &t 81.1




BN Y MW OE SIS

D7 w7 (FRE) B A=1/2% (A1+A2) #H

V7 44

==y
H (m)

R
Al (m)

T
A2 (m)

kb G2 ) F
A (m)

HE
R

PebRre PSE-itii

A (md)

AFF @)

1. 000

1. 000

1. 000

o o o| o

1
2
3
4

1. 000

3. 164

3. 164

3.2

3.2

D7 vy 7 (Ftfl) &5t

3.2




BN Y MW OE SIS
E7 w7 (R

B A=1/2% (A1+A2) *H

S LEiERE | TEEERE kb G2 ) F " PERR & b G2 ) F
U7 4 PERRSE )
H (m) Al (m) A2 (m) A (m) A (m) & ()
E - 1 1. 000 - - -
E - 2 1. 000 - - -
0.0
E7 v v 7 (FH) &5 0.0




BN Y MW OE SIS
A7 w7 (L)

B A=1/2% (A1+A2) *H

D>, S TR FTHEHER kG AR o PelR G AR
H (m) Al (m) A2 (m) A () N (o) At ()
A - 1 1. 000 - - -
A -2 1. 000 0. 586 0. 586 0.6 0.6
A - 3 1. 000 1. 586 1. 586 1.6 1.6
A - 4 0. 750 2. 586 2. 586 1.9 1.9
A - 5 0. 750 3. 336 3. 336 2.5 2.5
A - 6 1. 400 5. 354 5. 354 7.5 7.5
A - 7T -1 1.320 6. 194 6. 194 8.2
A - T - 2 0. 080 5. 794 6. 194 0.5 51
A7 vy 7 (LW At 22.8




BN Y MW OE SIS
B7 w7 (Lufif)

B A=1/2% (A1+A2) *H

S o EEER  FHEER P TY i P PERRE PIE TN
H (m) Al (m) A2 (m) A (%) A (n?) HE (m?)
B - 1 1. 000 - - -
B - 2 1. 000 - - -
B - 3 1. 000 - - -
B - 4 1. 000 - - -
B - 5 1. 000 - - -
B - 6 1. 000 - - -
B - 7 1. 000 - - -
B - 8 1.000 8.238 8.238 8.2 8.2
B - 9 1. 000 10. 000 10. 000 10.0 10.0
B - 10 1. 000 10. 000 10. 000 10.0 10.0
B - 11 0. 750 10. 000 10. 000 7.5 7.5
B - 12 0. 750 10. 000 10. 000 7.5 7.5
B - 13 - 1 0. 800 9. 600 10. 000 7.8
B - 13 - 2 0. 600 6. 600 9. 600 4.9 1.1
B - 14 1. 320 0. 000 6. 600 4.4 4.4
B7 w7 (L) &t 60. 3




BN Y MW OE SIS

D7 a7 (FEE) B 0 A=1/2% (A1+A2) *H

V7 44

==y
H (m)

R
Al (m)

T
A2 (m)

kb G2 ) F
A (m)

HE
R

PebRre

A (md)

PIE L

AFF @)

1. 000

1. 000

1. 000

o o o| o

1
2
3
4

1. 000

D7\ 7 (L)) At

0.0




BN Y MW OE SIS
E7 w7 (L)

B A=1/2% (A1+A2) *H

S FmiER TR kb G2 ) F - PebRg b G2 ) F
U7 4 PERRSE , L,
H (m) Al (m) A2 (m) A (m) A (m”) &t (m9)
E - 1 1. 000 - - -
E - 2 1. 000 - - -
E7 v w7 (BFA) &5 0.0




BN Y MW OE SIS

A7 vy 2 (fit T H H#)

B A=1/2% (A1+A2) *H

D>, S bmERE TR kG AR o LGS Sy PO iy
H (m) Al (m) A2 (m) A (m%) A (n?) HE (m?)
A - 1 1. 000 - - -
A -2 1. 000 - - -
A - 3 1. 000 3.825 4.375 4.1 4.1
A - 4 0. 750 3.413 3.825 2.7 2.7
A - 5 0. 750 3. 000 3.413 2.4 2.4
A - 6 1. 400 3.000 3.000 4.2 4.2
A - 7T - 1 1. 320 3. 000 3. 000 4.0 4.0

A7 vy 7 (i T HHE) &5

17. 4




BN Y MW OE SIS

B7 w7 (i L HHER) K@ LT B A=1/2% (A1+A2) *H
. S EEER  FHEER P TY i P PERRE PIE TN
H (m) Al (m) A2 (m) A (n?) A () At ()
B - 1 1. 000 - - -
B - 2 1. 000 - - -
B - 3 1. 000 7.675 8. 225 8.0 8.0
B - 4 1. 000 7.125 7.675 7.4 7.4
B - 5 1. 000 6.575 7.125 6.9 6.9
B - 6 1. 000 6.025 6.575 6.3 6.3
B - 7 1. 000 5. 475 6. 025 5.8 5.8
B - 8 1. 000 4.925 5. 475 5.2 5.2
B - 9 1. 000 4. 375 4.925 4.7 4.7
B - 10 1. 000 3. 825 4. 375 4.1 4.1
B - 11 0. 750 3.413 3.825 2.7 2.7
B - 12 0. 750 3. 000 3.413 2.4 2.4
B - 13 - 1 0. 800 3. 000 3. 000 2.4 2.4

B7 w7 (i T HHE) A5t

55.9




BN Y MW OE SIS

D7 w7 (b T H ) A5t

D7 v v o (i L HHER) K@ LEET B A=1/2% (A1+A2) *H
S FEER FHEER kG AR PEBR & G AR
V7 M P
H (m) Al (m) A2 (m) A (m) A (md) A ()
D - 1 1. 000 - - -
D - 2 1. 000 - - -
D - 3 1. 000 7.675 8. 225 8.0 8.0
D - 4 1. 000 7.125 7.675 7.4 7.4
15. 4




A SR By TR BRI
E7 vy 7 (i T H H#15#5)

B A=1/2% (A1+A2) *H

= ik ik % = 2
D>, Ry LEiERE | TEEERE kb G2 ) F o PERR b G2 ) F
H (m) Al (m) A2 (m) A (m) A (md) A ()
E - 1 1. 000 - - -
E - 2 1. 000 - - -
E7 v v 7 (L HHE) A& 0.0




ARET

B 7 it X K it S
1R AKAR
A, B7 v 7 G 7.
D, E7 v 7 HEfgt D-3~D-4 + B-1~E-2 H=2.0m 2.0Xxy (17 2+0.3" 2) 2.
4 3 9.5
S [ t=5cm W= T A R ERILXZ R
KRR 9 5 41H) 1:0.6=1. 944, 1:1.0=1.414, 1:1.2=1. 302
1:2.0=1. 118, 1:3.0=1.054, 1:1.5=1.202,1:0.8=1.601
A7y 8. 1%1. 944+6. 2+14. 0%1. 414+5. 5 47.2
= 1. 1+62. 2%1. 302+13. 1 95. 2
Oa=2r% 52. 1 52.1
=2 13. 1+35. 1%1. 118+37. 8 90. 1
D= 12. 3+46. 1%1. 054 60. 9
& & 345.5
345. 5%0. 05 17.
& % 17.3




=54 VHERIK

9325

600

500

R=F4Y R=F4Y R=54Y v R=F4Y R=F4Y R=F4Y R=F4Y R=F4Y R=54Y =54
AT @z Axm | | xp kE) @& KT [@EKF) @z AP (&, kF) (@&, kF) (@&, kE) (&=,
A=6. 2m2 A<5. 5m2 A1 n2 1n2 A=52. 1m2 A=13. Tm2 A=31. 8m2 A=12. 3m2 A=17. 8n2 £=9.3n2 A=4. 6
HERE | =58.3m
vayvy BJovy ¢Jgvy 0Joyvy EJoyy Fiavy
L=8. 20m L=10. 00m L=6/00m L=10. 00m 1=10.00m L=14.10m
7800 10000 6 10000 23700
6
3 = N = ! PIE g
= i 7 = 3 | i B
- i ‘ ‘ | il [ E
T I SoEssiteNzoRES ! HE *
L] ) gy b | [ 1]
B L ,jri& [ ﬁil——fr‘?* ﬁ‘il——ﬂ"?* TH# wIgs | TR L] <
E L Tl T | L] B
— ] 4 I YRS e Y ‘ .
N P | . |
= il 1 | 1 | — 5
= 9 9 I =
. 1 3
1680| | 900 | 1620 3000 1000, 8400 6000 1400 4000 4600 1500 6000 1300 1060,
0
AJovy ByovYy ¢Javy 7oy EJovy Fiavy
L=8.20m =10.00m L=6.00m L=10. 00m L¥10.00m L=14.10m
R=54Y R=34Y ~N=F4 =34 N=34Y R=34
(&5,1:0.6) (8F,1:1.0) (#5.1:1.2) (B 1:2.0) (8, 1:3.0) B 1:1.5)
A=8. 1m2 A=14. 0m2 A=62. 2m2 A=35. 1m2 A=46. 1m2 43. 1m2



Al & L

Al PSS Gk i LX(A 7 a
a7 Y—k 18-5-40 &7 0y 7 BEITIRELES R
AR A
AT a 4.7 o+ 7.8 m’ 12.5
By 8.4 + 29.5 m’ 37.9
Oa=a/4 1.7+ 11.3 m 13.0
DTy 4.0 + 23.7 m’ 27.7
E7 a7 3.0+ 4.5 m’ 7.5
& m’ 98. 6
LTI /N ) K7 a7 BEITIRE LGS
AR A
ATa 3.6+ 6.8 m’ 10. 4
By 7.1+ 10.8 m’ 17.9
O7a=2/4 - + - m’
DTy 2.0+ 4.8 m’ 6.8
E7 a2 .1+ 1.2 m’ 2.3
& m’ 37.4




i T

moom O ke 7 B = BAAL AN &
ayy)—hk 18-5-40
A7\ 7 Tl A-1 Wil : 1/2%0. 55%1. 00 = 0.28 nf
0. 28%1. 00+1/2%0. 28%1. 00 m’ 0.4
A-2 Wil 1/2%(0. 55+1. 10)*1. 00 = 0.83 ni
W2 : 1/2%0. 55%1. 00 = 0.28 m
0. 83%0. 414+1/2% (0. 83+0. 28) *1. 00+1/2%0. 28%1. 00 m 1.0
A-3 Wil - 1/2% (0. 778+1. 328) *1. 00 = 1.05 nf
W2 : 1/2%0. 55%1. 00 = 0.28 m
1/2% (1. 05+0. 28) *1. 414+1/2%0. 28%1. 00 m 1.1
A4 Wil : 1/2%(0. 778+1. 19) *0. 75 = 0.74 o
W2 : 1/2%0. 413%0. 75 = 0.15 m
1/2% (0. 74+0. 15) *1. 414+0. 15%1. 62+1/2%0. 15%0. 45 m 0.9
A-5 Wil o 1/2%(0. 778+1. 19) *0. 75 = 0.74 m
W2 : 1/2%(0. 825+0. 413)*0. 75 = 0.46 i
W3 : 1/2%0. 413%0. 75 = 0.15 m
1/2% (0. 74+0. 46) *0. 664+0. 46%1. 62+1/2% (0. 46+0. 15)*0. 45+1/2%0. 15%0. 45 m 1.3

A7 vy 7 iRl &F

+

4.7




i T

moom O ke 7 B = BAAL AN &
ayy)—hk 18-5-40
B7 w7 Tyl B-1 Wil : 1/2%0. 55%1. 00 = 0.28 nf
0. 28%1. 40+1/2%0. 28%1. 20 m’ 0.6
B-2 Wil 1/2% (0. 55+0. 733) *0. 333 = 0.21 nf
W2 : 1/2%(0. 458+1. 008) *1. 00 = 0.73 m
W3 : 1/2%0. 55%1. 00 = 0.28 mi
1/2%0. 21%0. 10+1/2% (0. 21+0. 73) *0. 20+1/2% (0. 73+0. 28) *1. 00+1/2%0. 28%1. 20 e 0.8
B-3 Wil - 1/2% (0. 716+1. 266) *1. 00 = 0.99 nf
W2 : 1/2%0. 55%1. 00 = 0.28 m
1/2% (0. 99+0. 28) *1. 562+1/2%0. 28%1. 20 m 1.2
B-4 Wil : 1/2% (0. 716+1. 266) *1. 00 = 0.99 ni
W2 : 1/2%0. 55%1. 00 = 0.28 m
1/2% (0. 99+0. 28) *1. 562+1/2%0. 28%1. 20 m 1.2
B-5 Wil - 1/2% (0. 716+1. 266) *1. 00 = 0.99 nf
W2 : 1/2%0. 55%1. 00 = 0.28 m
1/2% (0. 99+0. 28) *1. 562+1,/2%0. 28%1. 20 m 1.2
B-6 Wil : 1/2% (0. 716+1. 266) *1. 00 = 0.99 nf
W2 : 1/2%0. 55%1. 00 = 0.28 m
1/2% (0. 99+0. 28) *1. 562+1,/2%0. 28%1. 20 m 1.2




il 75 L
moom O Eikea 7t = = BAAL AN &
B-7 Wil o 1/2%(0. 716+1. 266) *1. 00 = 0.99 nf
W2 : 1/2%0. 55%1. 00 = 0.28 mi
1/2% (0. 99+0. 28) *1. 562+1/2%0. 28%1. 20 m 1.2
B-8 Wl o 1/2%(0. 716+1. 266) *1. 00 = 0.99 nf
W2 : 1/2%0. 55%1. 00 = 0.28 m
1/2% (0. 99+0. 28) *1. 562+0. 28%0. 20 m’ 1.0
B7 v w7 Rl A o’ 8.4
ay 7 Y—h 18-5-40
C7mav 7 Fifl] C-1 Wil @ 1/2%0. 55%1. 00 = 0.28 ni
0. 28%6. 00 m’ 1.7
C7uavy 7 FiM & o 1.7




i T

moom O k=2 7 B = BAAL AN &
ayv 7 Y—h 18-5-40

D7 a7 Rl D-1 Wil : 1/2%0. 55%1. 00 = 0.28 nt

0. 28%1. 40+1/2%0. 28%2. 00 m° 0.7
D-2 Wl - 1/2% (0. 55+0. 733) *0. 333 = 0.21 nf
W2 : 1/2%(0. 495+1. 045) *1. 00 = 0.77 m
W3 : 1/2%0. 55%1. 00 = 0.28 mi

1/2%0. 21%0. 10+1/2% (0. 21+0. 77) %0. 20+1/2% (0. 77+0. 28) *1. 80+1/2%0. 28%2. 00 e 1.3
D-3 Wil : 1/2%(0. 615+1. 165)*1. 00 = 0.89 nf
W2 : 1/2%0. 55%1. 00 = 0.28 m

1/2% (0. 89+0. 28) *2. 236+1/2%0. 28%4. 60 m 2.0

D7 v w7 FEMl A o’ 4.0




i T

mooB O ik i B =X BAAL AN &
ayv 7 J—h 18-5-40

E7a v 7 Fifl] E-1 Wil : 1/2%0. 55%1. 00 = 0.28 nt

0. 28%1. 50+1/2%0. 28%3. 00 m° 0.8
E-2 Wl : 1/2% (0. 55+1. 10) *1. 00 = 0.83 nt
W2 : 1/2%0. 55%1. 00 = 0.28 nf

0. 83%0. 162+1/2% (0. 83+0. 28) *3. 00+1/2%0. 28%3. 00 m 2.2

E7 vy 7 FiMl &5 o 3.0




i T

moom O ke 7 B = BAAL AN &
ayy)—hk 18-5-40
A7 vy BiEL A-1 Wil 1/2%0. 60%1. 00 = 0.30 nf
0. 30%1. 00+1/2*0. 30*1. 00 m’ 0.5
A-2 Wil 1/2% (0. 60+1. 20)*1. 00 = 0.90 nf
W2 : 1/2%0. 60%1. 00 = 0.30 mf
0. 90%0. 414+1/2% (0. 90+0. 30) *1. 00+1/2%0. 30%1. 00 m 1.1
A-3 Wil - 1/2% (0. 849+1. 449) *1. 00 = .15 nof
W2 : 1/2%0. 60%1. 00 = 0.30 mf
1/2% (1. 15+0. 30) *1. 414+1/2%0. 30%1. 00 m 1.2
A-4 Wil - 1/2% (0. 849+1. 299) *0. 75 = 0.81 nf
W2 : 1/2%0. 45%0. 75 = 0.17 mf
1/2% (0. 81+0. 17) *1. 414+0. 17%1. 62+1/2%0. 17%0. 45 m 1.0
A-5 Wil - 1/2% (0. 849+1. 299) *0. 75 = 0.81 nf
W2 : 1/2%(0. 45+0. 90) *0. 75 = 0.51 m
W3 : 1/2%0. 45%0. 75 = 0.17 mf
1/2% (0. 81+0. 51)*0. 664+0. 511, 62+1/2% (0. 51+0. 17) *0. 45+1/2%0. 170. 45 m’ 1.5
A-6 Wil 1/2% (0. 90+1. 32) *1. 40 = 1.55 i
W2 : 1/2%0. 42%1. 40 = 0.29
1. 55%0. 266+1/2% (1. 55+0. 29) *0. 90+1/2%0. 29%0. 84 m 1.4




i L
Al B iRz it B 2V X(A a
A-T Wil : 1/2%(0. 746+1.166)%1.40 = 1.34 nf
W2 : 1/2%0. 42%1. 40 = 0.29 nf
1/25% (1. 34+0. 29) *1. 166+1/25%0. 29%0. 84 m’

A7 w7 B &E o




i T

moom O ke 7 B = BAAL AN &
ayy)—hk 18-5-40
BV v v/ Byl B-1 Wil 1/2%0. 60%1. 00 = 0.30 nf
0. 30%1. 40+1/2%0. 30%1. 20 m’ 0.6
B-2 Wil 1/2% (0. 60+1. 20)*1. 00 = 0.90 nf
W2 : 1/2%0. 60%1. 00 = 0.30 mf
0. 90%1. 40+1/2% (0. 90+0. 30) *1. 20+1/2%0. 30%1. 20 m 2.2
B-3 Wil . 1/2% (1. 20+1. 80)*1. 00 = 1.50 nf
W2 : 1/2%0. 60%1. 00 = 0.30 mf
1. 50%1. 40+1/2% (1. 50+0. 30) *2. 40+1/2%0. 30%1. 20 m 4.4
B-4 Wil 1/2% (1. 80+2. 40)*1. 00 = 2.10 ot
W2 : 1/2%0. 60%1. 00 = 0.30 mf
2. 10%1. 40+1/2% (2. 10+0. 30) *3. 60+1/2%0. 30%1. 20 m 7.4
B-5 Wil 1/2% (2. 40+3. 00) *1. 00 = 2.70 i
W2 : 1/2%0. 60%1. 00 = 0.30 mf
2. 70%1. 40+1/2% (2. 70+0. 30) *4. 80+1/2%0. 30%1. 20 m 11.2
B-6 Wil - 1/2% (0. 781+1. 381) *1. 00 = 1.08 nf
W2 : 1/2%0. 60%1. 00 = 0.30 mf
1/2% (1. 08+0. 30) *1. 562+1/2%0. 30%1. 20 m 1.3




il 75 L
moom O Eikea 7t = = BAAL AN & i
B-7 Wil o 1/2% (0. 781+1. 381) *1. 00 = 1.08 ni
W2 : 1/2%0. 60%1. 00 = 0.30 nf
1/2% (1. 08+0. 30) *1. 562+1/2%0. 30%1. 20 m 1.3
B-8 Wl o 1/2%(0. 781+1. 381) *1. 00 = 1.08 ni
W2 : 1/2%0. 60%1. 00 = 0.30 mf
1/2% (1. 08+0. 30) *1. 562+0. 3050. 20 m’ 1.1
B u vy kil & o 29.5
ay 7 Y—h 18-5-40
C7wvvy7 Ewfl Cc-1 Wil 1/2% (0. 644+0. 944) *1. 00 = 0.79 i
0. 79%6. 00 m’ 4.7
-2 Wil : 1/2% (0. 944+1. 244)%1. 001 = 1.10 nf
1. 10%6. 00 m’ 6.6
c7uvyr bl &% o 1.3




i T

moom O ke 7 B = BAAL INF & i
ayy)—hk 18-5-40

D7 w7 Byl D-1 Wil 1/2%0. 60%1. 00 = 0.30 nf

0. 30%1. 40+1/2%0. 30*2. 00 m’ 0.7
D-2 Wil 1/2% (0. 60+1. 20)*1. 00 = 0.90 nf
W2 : 1/2%0. 60%1. 00 = 0.30 mf

0. 90%1. 40+1/2% (0. 90+0. 30) *2. 00+1/2%0. 30%2. 00 m 2.8
D-3 Wil . 1/2% (1. 20+1. 80)*1. 00 = 1.50 nf
W2 : 1/2%0. 60%1. 00 = 0.30 mf

1. 50%1. 40+1/2% (1. 50+0. 30) *4. 00+0. 30%4. 60 m 7.1
D-4 Wil 1/2% (1. 80+2. 40)*1. 00 = 2.10 ot
W2 : 1/2%(0. 60+1. 20) *1. 00 = 0.90 nmf

2. 10%1. 40+1/2% (2. 10+0. 90) *4. 00+0. 90%4. 60 m 13.1

)}z = V7 A by 1]

PAN=

[ =)

+

23.7




i T

AE Bl B EiRss 7 B 2V X(A 7N a
a7 Y—k 18-5-40
EZ7 w7 Byl E-1 Wil : 1/2:%0. 60%1. 00 = 0.30 nf
0. 30%1. 50+1/2%0. 30%3. 00 m 0.9
E-2 WriEil : 1/2% (0. 60+1. 20)*1. 00 = 0.90 i
W2 : 1/2%0. 60%1. 00 = 0.30 nf
0. 90%1. 50+1/2% (0. 90+0. 30) %3. 00+1/2%0. 30%3. 00 m’ 3.6

D= V7 by ]

PAN=

=]

+

4.5




] & L
AR Bk Giukzy G B =X HAL /N &
e /NI ER)
A7 v 7 FHil A-1 | 1/2%0.55%1. 00 m* 0.3
A=2 | 1/2%(0.55+1.10)*1. 00 m” 0.8
A-3  1/2%(0. 778+1.328) %1. 00 m’ 1.1
A=4 | 1/2%(0. 778+1. 19)*0. 75 m* 0.7
A-5 | 1/2%(0. 778+1. 19)*0. 75 m* 0.7
A7 a7 Pl AR of 3.6
B7 w7 FHifl  B-1 | 1/2%0.55%1. 00 m* 0.3
B-2 | (1/2%(0. 55+0. 733) *0. 333+1/25% (0. 733+1. 008) *0. 667) %y (1°2+0.372) m’ 0.8
B-3  1/2%(0.716+1.266)*1. 00 m’ 1.0
B-4  1/2%(0.716+1. 266)*1. 00 m’ 1.0
B-5  1/2%(0. 716+1.266)*1. 00 m’ 1.0
B-6  1/2%(0.716+1.266)*1. 00 m’ 1.0
B-7  1/2%(0. 716+1. 266) *1. 00 m’ 1.0
B-8  1/2%(0.716+1.266)*1. 00 m’ 1.0
B7 w7 Tl A nf 7.1
D7 w7 FHifl  D-1 | 1/2%0.55%1. 00 m* 0.3
D-2 | (1/2%(0. 55+0. 733) %0. 333+1/2:% (0. 733+1. 045) *0. 667) %y (1°2+0.372) m’ 0.8
D-3  1/2%(0.615+1.165)*1. 00 m’ 0.9
D7\ 7 Tl AR n? 2.0




e

E=(111Y
o
|

O o5 i B =X

/NG

EZ7 vy 7 Tl E-1 | 1/2%0.55%1. 00

E-2 | 1/2%(0.55+1.10)*1.00

E7 w7 Tl &5t

op




] & L
HoBl Bk FiiRza 7 E20 HLAL /N &
A /N )
A7 w7 B3R A-1 | 1/2%0. 60%1. 00 m’ 0.3
A=2 | 1/2%(0.60+1. 20) *1. 00 m” 0.9
A-3  1/2%(0. 849+1. 449) *1. 00 m’ 1.1
A4 1/2%(0.849+1. 299) %0. 75 m’ 0.8
A-5  1/2%(0.849+1. 299) *0. 75 m’ 0.8
A=6 | 1/2%(0.90+1.32)*1. 40 m* 1.6
A-T  1/2%(0. T46+1. 166) *1. 40 m’ 1.3
A7 a7 Bl AR of 6.8
B7 w7 BHiMl B-1 | 1/2%0.60%1. 00 m’ 0.3
B-2 | 1/2%(0.60+1.20)*1. 00 m* 0.9
B-3 | 1/2%(1.20+1.80)*1.00 m* 1.5
B-4 | 1/2%(1.80+2.40)*1. 00 m* 2.1
B-5 | 1/2%(2.40+3.00)*1. 00 m* 2.7
B-6  1/2%(0.781+1.381)%1. 00 m’ 1.1
B-7  1/2%(0.781+1.381) 1. 00 m’ 1.1
B-8  1/2%(0.781+1.381)%1. 00 m’ 1.1
B7 w7 kil A nf 10.8
D7 w7 BHEMl D-1 | 1/2%0.60%1. 00 m’ 0.3
D-2 | 1/2%(0.60+1.20)*1. 00 m* 0.9
D-3 | 1/2%(1.20+1.80)*1.00 m* 1.5
D-4 | 1/2%(1.80+2.40)*1. 00 m* 2.1
D7 w7 kil AF nf 4.8




e

E=(111Y
o
|

O o5 i B =X

/NG

E7 w7 Bl E-1 | 1/2%0.60%1. 00

E-2 | 1/2%(0.60+1.20)*1.00

EZ7 w7 Bl At

op




A BERE  SERHR

moB B A &
syl
ayr7JY—F 18-5-40 1.32 1.3
AL PR (ORHY) 6.81 6.8
H #ukt BHEE t=10 1.2 1.2
& % Fyvbhytr—7 0.3 0.3
Kk ENRAT VP ¢ 65 0.4 0.4




1B BieEE (1)

A Bl Gike2 it B 2V XA AN E & Fh
ary7JY—*h 18-5-40
1/250. 95%0. 875 n’ 0. 42
1/25% (0. 95+1. 23) *0. 825 m’ 0.90
S N 1.32
B P B OREY)
AT | 1/2%2. 56%0. 875 m” 1.12
Z 1/2% (2. 56+3. 13) *0. 825 m’ 2.35 3. 47
A 1/2%2. 47%0. 875 2 108
Z 1/2% (2. 47+3. 02) *0. 825 m’ 2.26 3.34
S N 6.81
H Hipt TEHE =10
AL 1.23 m” 1.2
2 5% Fyv hvtr—7
PSEJTk 1/2%0. 29%0. 470 m’ 0.1
1/25% (0. 29+0. 80) *0. 825 m’ 0.4
& i m’ 0.5
0.5/1.8 m 0.3
Kk E AT VP ¢ 65 a7 Y—hMEELD
1/3%1. 32 m 0.4




(LI B2 e R [1.0m%4 v ]
300 - BEEE
KikE/NRA4 T
VP ¢ 65
I
VvV FH2
B
XKIRENA FIFETmE Y EERIZ
IMIZIERRET B,
HH FHEK HANT /N

[H=2. 29m] H= m 2.29
B=| 0.30+(0.5-0. 4)*2. 29 m 0.53
a7 J—F 1/2% (0. 30+0. 53) *2. 29 m° 0. 95
R OB B | 2. 29%/ (172+0.572) m’ 2.56
TIMe (ROBF ) A5 2.29%y (172+0.4°2) m 2.47
5 Gy bor-7) 2.29-2.0 m® 0.29
[H=2. 80m] H= m 2. 80
B= 0.30+(0.5-0.4)*2. 80 m 0.58
ay 7 J—Fh 1/2% (0. 30+0. 58) %2. 80 m 1.23
I OB B | 2. 80%y (172+0.572) m 3.13
IR (OB A5 | 2. 80k (172+0.472) m’ 3. 02
5 Gy bot=7) 2.80-2.0 m 0. 80




